Decay of the B° meson in the
LHCb experiment



Decay’s topology




First-method’s frame
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First method : second degree equation and
solutions
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Solution 1 : -b+sqrt(delta)/2a (« Positiv solution »)
Solution 2 : -b-sqrt(delta)/2a (« Negativ solution »)



Delta values and 1st cut
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Evaluation of the Delta > 0 cut

Distance transverse vertex t K'° TRUE
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histo_tauP_Kst_T_tran_p

Entries 3132
Mean 0.1918
RMS 0.2062
Underflow 0

Overflow 0.001279
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Second cut

Momentum difference : Abs(dp2)-Abs(dp1)

dpl2 = TMath::Abs(phat_nutaubar2_para - Vect_nutaubar * u_para)-TMath::Abs(phat_nutaubarl_para - Vect_nutaubar * u_para)

nutaubar Reco2: dp2 - dp1

histo_Reco2_nutaubar_dp1_dp2
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Fit with two gaussians, 1st solution

Reco2 tauP1_Mass topo Right

histo_Reco2_tauP1_Mass_topo_R
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Fit with two gaussians, 2"9 solution
Reco2 tauP2_Mass topo Right

histo_Reco2_tauP2_Mass_topo_R

Entries 1542

: Mean 1777

450 — RMS 7773
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[ ¥2 I ndf 35.95/17

- Constant1 2.663e+04 + 3.325e+03

400 — Mean1 1775+ 36

— Sigmal 9569+ 6.91
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I Mean2 1778+ 18
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